

## POSITIVE SEMIDEFINITENESS OF DISCRETE QUADRATIC FUNCTIONALS

MARTIN BOHNER<sup>1</sup>, ONDŘEJ DOŠLÝ<sup>2</sup> AND WERNER KRATZ<sup>3</sup>

<sup>1</sup>*University of Missouri-Rolla, Department of Mathematics,  
Rolla, MO 65401, USA (bohner@umr.edu)*

<sup>2</sup>*Masaryk University, Department of Mathematics, CZ-66295 Brno,  
Czech Republic (dosly@math.muni.cz)*

<sup>3</sup>*Universität Ulm, Abteilung Angewandte Analysis, D-89069 Ulm,  
Germany (kratz@mathematik.uni-ulm.de)*

(Received 25 November 2002)

*Abstract* We consider symplectic difference systems, which contain as special cases linear Hamiltonian difference systems and Sturm–Liouville difference equations of any even order. An associated discrete quadratic functional is important in discrete variational analysis, and while its positive definiteness has been characterized and is well understood, a characterization of its positive semidefiniteness remained an open problem. In this paper we present the solution to this problem and offer necessary and sufficient conditions for such discrete quadratic functionals to be non-negative definite.

*Keywords:* Hamiltonian systems; symplectic systems; discrete quadratic functionals; non-negativity

2000 *Mathematics subject classification:* Primary 39A12; 39A13  
Secondary 34B24; 49K99

### 1. Introduction and main results

The so-called Reid Roundabout Theorem for Hamiltonian differential systems has been well known for a long time (cf. [9] or [7, Theorem 2.4.1]). It characterizes the positivity of a corresponding (continuous) quadratic functional by the disconjugacy (non-oscillation) of the differential system. This result was carried over to discrete quadratic functionals and corresponding Hamiltonian difference systems in [2, Theorem 2], and it was proven for more general symplectic difference systems in [3]. In contrast to the continuous case, the discrete results do not require us to assume controllability, which was shown in [4]. The characterization of non-negativity rather than positivity of quadratic functionals remained an open problem, and its solution is the content of this paper. There exists a recent approach to this problem in [5] (see also the references given there), but along different lines.

Here we consider *symplectic difference systems*

$$x_{k+1} = \mathcal{A}_k x_k + \mathcal{B}_k u_k, \quad u_{k+1} = \mathcal{C}_k x_k + \mathcal{D}_k u_k, \quad k \in [0, N] \cap \mathbb{Z}, \quad (1.1)$$

where  $\mathcal{A}_k, \mathcal{B}_k, \mathcal{C}_k, \mathcal{D}_k$  are real  $n \times n$  matrices,  $x_k, u_k \in \mathbb{R}^n$ , and  $N \in \mathbb{N}$ . We will assume throughout that the  $2n \times 2n$  matrices

$$\mathcal{S}_k := \begin{pmatrix} \mathcal{A}_k & \mathcal{B}_k \\ \mathcal{C}_k & \mathcal{D}_k \end{pmatrix}$$

are *symplectic*, i.e.

$$\mathcal{S}_k^T \mathcal{J} \mathcal{S}_k = \mathcal{J} \quad \text{with } \mathcal{J} = \begin{pmatrix} 0 & I \\ -I & 0 \end{pmatrix}, \quad (1.2)$$

where  $I$  denotes the  $n \times n$  identity matrix. Using this notation with the ‘big’ matrices  $\mathcal{S}_k$  and putting  $z_k = \begin{pmatrix} x_k \\ u_k \end{pmatrix} \in \mathbb{R}^{2n}$ , the difference system (1.1) is the same as

$$z_{k+1} = \mathcal{S}_k z_k, \quad k \in [0, N] \cap \mathbb{Z}. \quad (1.3)$$

The symplecticity, i.e. (1.2), implies that  $\mathcal{S}_k$  is invertible with

$$\mathcal{S}_k^{-1} = \begin{pmatrix} \mathcal{D}_k^T & -\mathcal{B}_k^T \\ -\mathcal{C}_k^T & \mathcal{A}_k^T \end{pmatrix}.$$

This fact and (1.2) are equivalent to the following formulae:

$$\begin{aligned} \mathcal{A}_k^T \mathcal{C}_k, \mathcal{D}_k^T \mathcal{B}_k, \mathcal{A}_k \mathcal{B}_k^T, \mathcal{C}_k \mathcal{D}_k^T &\text{ are symmetric,} \\ \mathcal{A}_k^T \mathcal{D}_k - \mathcal{C}_k^T \mathcal{B}_k &= \mathcal{A}_k \mathcal{D}_k^T - \mathcal{B}_k \mathcal{C}_k^T = I. \end{aligned}$$

By [3, Lemma 1] the symplectic system (1.1) is a Hamiltonian difference system if and only if the matrices  $\mathcal{A}_k$  are invertible.

Moreover, we deal with the corresponding *discrete quadratic functional*

$$\mathcal{F}(z) = \sum_{k=0}^N \{x_k^T \mathcal{A}_k^T \mathcal{C}_k x_k + u_k^T \mathcal{D}_k^T \mathcal{B}_k u_k + 2x_k^T \mathcal{C}_k^T \mathcal{B}_k u_k\} \quad (1.4)$$

for *admissible sequences*

$$z = (z_k)_{k=0}^{N+1} = \begin{pmatrix} x \\ u \end{pmatrix} = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1},$$

i.e.  $z$  satisfies the first equation of (1.1), the so-called *equation of motion*, and the Dirichlet boundary conditions, more precisely:

$$x_{k+1} = \mathcal{A}_k x_k + \mathcal{B}_k u_k \quad \text{for } k \in [0, N] \cap \mathbb{Z}, \quad x_0 = x_{N+1} = 0. \quad (1.5)$$

Note also that

$$\mathcal{F}(z) = \sum_{k=0}^N z_k^T \{\mathcal{S}_k^T \mathcal{K} \mathcal{S}_k - \mathcal{K}\} z_k \quad \text{with } \mathcal{K} = \begin{pmatrix} 0 & 0 \\ I & 0 \end{pmatrix}.$$

We need some further *notation*. By  $M^\dagger$  we denote the *Moore–Penrose inverse* of a matrix  $M$  (cf. [1]). For a real and symmetric matrix  $P$  we write  $P \geq 0$  if  $P$  is non-negative definite. By  $\text{Ker } M$ ,  $\text{image } M$ ,  $\text{rank } M$ ,  $M^T$  and  $M^{-1}$  we denote the kernel, image, rank, transpose and inverse of a matrix  $M$ , respectively. We shall deal only with the so-called *principal solution*

$$\begin{pmatrix} X \\ U \end{pmatrix} = \begin{pmatrix} X_k \\ U_k \end{pmatrix}_{k=0}^{N+1}$$

of (1.1) at 0, i.e.  $X_k$  and  $U_k$  are real  $n \times n$  matrices which satisfy

$$X_{k+1} = \mathcal{A}_k X_k + \mathcal{B}_k U_k, \quad U_{k+1} = \mathcal{C}_k X_k + \mathcal{D}_k U_k, \quad k \in [0, N] \cap \mathbb{Z}, \tag{1.6}$$

and the initial conditions

$$X_0 = 0 \quad \text{and} \quad U_0 = I. \tag{1.7}$$

Then  $\begin{pmatrix} X \\ U \end{pmatrix}$  is a *conjoined basis* of (1.1) (cf. [2, Definition 1]), i.e. it satisfies  $\text{rank}(X_k^T, U_k^T) = n$  and  $X_k^T U_k = U_k^T X_k$  for  $0 \leq k \leq N + 1$ . It follows from (1.2) that

$$X_k = \mathcal{D}_k^T X_{k+1} - \mathcal{B}_k^T U_{k+1}, \quad U_k = -\mathcal{C}_k^T X_{k+1} + \mathcal{A}_k^T U_{k+1} \quad \text{for } k \in [0, N] \cap \mathbb{Z}. \tag{1.8}$$

The following related matrices were introduced in [8], but note that we here use  $P$  instead of  $D$ :

$$\left. \begin{aligned} M_k &= (I - X_{k+1} X_{k+1}^\dagger) \mathcal{B}_k, & T_k &= I - M_k^\dagger M_k, \\ P_k &= T_k^T X_k X_{k+1}^\dagger \mathcal{B}_k T_k, & \tilde{P}_k &= \mathcal{B}_k^T \mathcal{D}_k - \mathcal{B}_k^T Q_{k+1} \mathcal{B}_k, \end{aligned} \right\} \tag{1.9}$$

for  $0 \leq k \leq N$ , where  $Q_k$  denotes a symmetric matrix with

$$Q_k X_k = U_k X_k^\dagger X_k, \tag{1.10}$$

and, by [2, Lemma 2], we may choose

$$Q_k = U_k X_k^\dagger + (U_k X_k^\dagger \tilde{X}_k - \tilde{U}_k)(I - X_k^\dagger X_k) U_k^T,$$

where  $\begin{pmatrix} X \\ U \end{pmatrix}$  and  $\begin{pmatrix} \tilde{X} \\ \tilde{U} \end{pmatrix}$  are normalized conjoined bases of (1.1). If the matrices  $X_k$  are invertible, then the matrices  $Q_k$  satisfy a corresponding *Riccati difference system* (cf. [2, Lemma 2] or [3, Lemma 3])  $R_k[Q] = 0$ , where the ‘Riccati operator’  $R$  is defined by

$$R_k[Q] = Q_{k+1}(\mathcal{A}_k + \mathcal{B}_k Q_k) - (\mathcal{C}_k + \mathcal{D}_k Q_k). \tag{1.11}$$

Now we can formulate the *main result* of this paper.

**Theorem 1.1.** *Assume that the difference system (1.3) is symplectic, i.e. (1.2) holds, and let  $\begin{pmatrix} X \\ U \end{pmatrix}$  denote the principal solution of (1.1) at 0, i.e. (1.6) and (1.7) hold, and let  $\mathcal{F}$  be defined by (1.4). Then  $\mathcal{F} \geq 0$ , i.e.  $\mathcal{F}(z) \geq 0$  for every admissible sequence*

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1},$$

*i.e.  $z$  satisfies (1.5), if and only if the following two statements are true.*

- (i)  $P_k \geq 0$  for all  $0 \leq k \leq N$ .
- (ii)  $x_k \in \text{image } X_k$  for all  $0 \leq k \leq N + 1$  and for every admissible sequence

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1}.$$

**Remark 1.2.** Note that, by [8, Lemma 1], the matrices  $P_k$  are always symmetric, and  $M_k = 0$  (or equivalently  $T_k = I$ ) if and only if  $\text{Ker } X_{k+1} \subset \text{Ker } X_k$ . Moreover, if  $\text{Ker } X_{k+1} \subset \text{Ker } X_k$  for all  $0 \leq k \leq N$ , then statement (ii) is true (cf. [2, Remark 3 (iii)] or [3, Remark 1 (v)]). This kernel condition and statement (i) mean that  $\begin{pmatrix} X \\ U \end{pmatrix}$  has no focal point in the interval  $(0, N + 1]$  (cf. [2, Definition 3], [3, Definition 3] or [8, Definition 1]), and these two conditions are equivalent to the positivity of  $\mathcal{F}$  by the Reid Roundabout Theorem (cf. [2, Theorem 2] or [3, Theorem 1]). Of course, our statement (ii) does not imply the kernel condition, and therefore our statements (i) and (ii) do not imply, for example, that  $\begin{pmatrix} X \\ U \end{pmatrix}$  has no focal points in the *open* interval  $(0, N + 1)$  (cf. [8, Definition 1]), as one might have expected in analogy to the continuous case [7, Remark 2.4.2]. This will be discussed in §3 below (Corollary 3.1 and Remark 3.3). But the continuous results require *controllability* of the system, which is not needed here and also not needed for the discrete result on positivity.

The rest of this paper deals with the proof of Theorem 1.1. In the next section we show that (i) and (ii) imply  $\mathcal{F} \geq 0$ , using mainly a Generalized Picone Identity, i.e. Proposition 2.1. In the final section (§3) we prove the other direction by constructing examples with  $\mathcal{F}(z) < 0$ , if (i) or (ii) is violated.

## 2. Non-negativity

We need the following result (for special cases see [2, Lemma 2] or [3, Lemma 2]).

**Proposition 2.1 (Generalized Picone Identity).** *We use the notation presented in §1 and assume (1.6), (1.2), (1.7) and (1.10). Let  $k \in [0, N] \cap \mathbb{Z}$  and suppose that  $x_{k+1} = \mathcal{A}_k x_k + \mathcal{B}_k u_k$ ,  $s_k = u_k - Q_k x_k$ . The following identities then hold.*

- (i)  $P_k = T_k^T \tilde{P}_k T_k$ .
- (ii)  $X_{k+1}^T R_k [Q] X_k = 0$ .
- (iii)  $M_k s_k = 0$  if  $x_k \in \text{image } X_k$  and  $x_{k+1} \in \text{image } X_{k+1}$ .
- (iv)  $\mathcal{F}_k := x_k^T \mathcal{A}_k^T \mathcal{C}_k x_k + u_k^T \mathcal{D}_k^T \mathcal{B}_k u_k + 2x_k^T \mathcal{C}_k^T \mathcal{B}_k u_k = x_{k+1}^T Q_{k+1} x_{k+1} - x_k^T Q_k x_k + s_k^T P_k s_k$  if  $x_k \in \text{image } X_k$  and  $x_{k+1} \in \text{image } X_{k+1}$ .

**Proof.** First, the formulae (1.9) imply that

$$\begin{aligned} \tilde{P}_k &= \mathcal{B}_k^T \mathcal{D}_k + M_k^T Q_{k+1} M_k - \mathcal{B}_k^T X_{k+1} X_{k+1}^\dagger Q_{k+1} X_{k+1} X_{k+1}^\dagger \mathcal{B}_k \\ &\quad - \mathcal{B}_k^T Q_{k+1} M_k - M_k^T Q_{k+1} \mathcal{B}_k, \end{aligned}$$

and we obtain from (1.8) and (1.10) that (using properties of the Moore–Penrose inverses)

$$\begin{aligned} \mathcal{B}_k^T \mathcal{D}_k - \mathcal{B}_k^T (X_{k+1}^\dagger)^T X_{k+1}^T U_{k+1} X_{k+1}^\dagger \mathcal{B}_k &= M_k^T U_{k+1} X_{k+1}^\dagger \mathcal{B}_k + \mathcal{D}_k^T M_k + (\mathcal{D}_k^T X_{k+1} - \mathcal{B}_k^T U_{k+1}) X_{k+1}^\dagger \mathcal{B}_k \\ &= M_k^T U_{k+1} X_{k+1}^\dagger \mathcal{B}_k + \mathcal{D}_k^T M_k + X_k X_{k+1}^\dagger \mathcal{B}_k. \end{aligned}$$

Hence  $T_k^T \tilde{P}_k T_k = P_k$  because  $M_k T_k = 0$ , which proves (i).

To show (ii), note that

$$\begin{aligned} X_{k+1}^T R_k[Q] X_k &= X_{k+1}^T \{Q_{k+1}(\mathcal{A}_k X_k + \mathcal{B}_k U_k) - (\mathcal{C}_k X_k + \mathcal{D}_k U_k)\} X_k^\dagger X_k \\ &= \{U_{k+1}^T X_{k+1} - X_{k+1}^T U_{k+1}\} X_k^\dagger X_k = 0 \end{aligned}$$

follows from (1.6), (1.10), (1.11), and the properties of Moore–Penrose inverses.

We have  $x_\nu = X_\nu X_\nu^\dagger x_\nu$  for  $\nu \in \{k, k + 1\}$ . Therefore

$$\begin{aligned} M_k u_k &= (I - X_{k+1} X_{k+1}^\dagger)(x_{k+1} - \mathcal{A}_k x_k) \\ &= (I - X_{k+1} X_{k+1}^\dagger)(X_{k+1} X_{k+1}^\dagger x_{k+1} - \mathcal{A}_k X_k X_k^\dagger x_k) \\ &= (I - X_{k+1} X_{k+1}^\dagger)(\mathcal{B}_k U_k - X_{k+1}) X_k^\dagger x_k \\ &= M_k U_k X_k^\dagger X_k X_k^\dagger x_k = M_k Q_k x_k, \end{aligned}$$

and hence (iii) holds.

Finally we show (iv). It follows from [3, Lemma 2] (see also [2, p. 812]) that

$$\begin{aligned} \tilde{\mathcal{F}}_k &:= -2u_k^T \mathcal{B}_k R_k[Q] x_k + x_k^T \{Q_k \mathcal{B}_k^T R_k[Q] - R_k^T[Q] \mathcal{A}_k\} x_k \\ &= \mathcal{F}_k - x_{k+1}^T Q_{k+1} x_{k+1} + x_k^T Q_k x_k - s_k^T \tilde{P}_k s_k. \end{aligned}$$

Since  $T_k s_k = s_k$  by (iii) and (1.9), we have that  $s_k^T \tilde{P}_k s_k = s_k^T P_k s_k$  by (i). Moreover, using (ii),

$$u_k^T \mathcal{B}_k^T R_k[Q] x_k = (x_{k+1} - \mathcal{A}_k x_k)^T R_k[Q] x_k = -x_k^T \mathcal{A}_k^T R_k[Q] x_k,$$

so that

$$\tilde{\mathcal{F}}_k = (\mathcal{A}_k x_k + \mathcal{B}_k Q_k x_k)^T R_k[Q] x_k = x_k^T (X_k^\dagger)^T X_{k+1}^T R_k[Q] X_k X_k^\dagger x_k = 0,$$

which yields (iv). □

The next result shows one direction of Theorem 1.1, namely that (i) and (ii) imply  $\mathcal{F} \geq 0$ .

**Proposition 2.2.** *Under the assumptions of Theorem 1.1 suppose that statement (i) is true, and assume that*

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1}$$

*is admissible with  $x_k \in \text{image } X_k$  for all  $2 \leq k \leq N$ . Then  $\mathcal{F}(z) \geq 0$ .*

**Proof.** Note that

$$x_0 = x_{N+1} = 0 \in \text{image } X_0 = \{0\} \subset \text{image } X_{N+1},$$

and

$$x_1 = \mathcal{B}_0 u_0 = X_1 u_0 \in \text{image } X_1$$

for every admissible sequence  $z$ . It follows from the Generalized Picone Identity, Proposition 2.1 (iv), that

$$\begin{aligned} \mathcal{F}(z) &= \sum_{k=0}^N \{x_{k+1}^T Q_{k+1} x_{k+1} - x_k^T Q_k x_k + s_k^T P_k s_k\} \\ &= \sum_{k=0}^N s_k^T P_k s_k \\ &\geq 0. \end{aligned}$$

Hence  $\mathcal{F} \geq 0$ . □

### 3. Construction of examples

In the first two parts of this section we show the other direction of Theorem 1.1. First, we consider the case where statement (i) is violated and construct an admissible  $z$  with  $\mathcal{F}(z) < 0$ . Then we consider the case where statement (ii) is violated and also construct an admissible  $z$  with  $\mathcal{F}(z) < 0$ . We conclude this section with some remarks and consequences of Theorem 1.1.

#### 3.1. Statement (i) is not true

Assume that  $P_m \not\geq 0$  for some  $m \in [1, N] \cap \mathbb{Z}$ . Note that  $P_0 = 0 \geq 0$  by (1.7) and (1.9). We use (with different notation) the construction in [5] (cf. also [2, p. 814]). To do so, let  $c \in \mathbb{R}^n$  with  $c^T P_m c < 0$ . We define  $d := X_{m+1}^\dagger \mathcal{B}_m T_m c$  and

$$x_k := \begin{cases} X_k d & \text{for } 0 \leq k \leq m, \\ 0 & \text{for } m+1 \leq k \leq N+1, \end{cases}$$

$$u_k := \begin{cases} U_k d & \text{for } 0 \leq k \leq m-1, \\ U_k d - T_k c & \text{for } k = m, \\ 0 & \text{for } m+1 \leq k \leq N+1. \end{cases}$$

Then  $x_0 = x_{N+1} = 0$ ,  $x_{k+1} = \mathcal{A}_k x_k + \mathcal{B}_k u_k$  for  $0 \leq k \leq N$  with  $k \neq m$ , and

$$\mathcal{A}_m x_m + \mathcal{B}_m u_m = X_{m+1} d - \mathcal{B}_m T_m c = 0 = x_{m+1},$$

because  $X_{m+1} X_{m+1}^\dagger \mathcal{B}_m T_m = (\mathcal{B}_m - M_m) T_m = \mathcal{B}_m T_m$  by (1.9). Hence  $z = \begin{pmatrix} x \\ u \end{pmatrix}$  is admissible. Using [3, p. 711] and

$$\mathcal{C}_{m-1} x_{m-1} + \mathcal{D}_{m-1} u_{m-1} = U_m d = u_m + T_m c,$$

we obtain

$$\begin{aligned} \mathcal{F}(z) &= \sum_{k=0}^N x_{k+1}^T \{C_k x_k + D_k u_k - u_{k+1}\} \\ &= x_m^T \{C_{m-1} x_{m-1} + D_{m-1} u_{m-1} - u_m\} \\ &= c^T T_m^T X_m d = c^T P_m c < 0. \end{aligned}$$

Hence  $\mathcal{F} \not\geq 0$ .

**3.2. Statement (ii) is not true**

Assume that there exists an admissible  $z = \begin{pmatrix} x \\ u \end{pmatrix}$  and  $1 \leq m \leq N - 1$  such that  $x_m \in \text{image } X_m$ , but  $x_{m+1} \notin \text{image } X_{m+1}$ . We put  $x = x_{m+1}$ ,  $X = X_m$ ,  $x_m = X\alpha \in \text{image } X_m$ ,  $Y = X_{m+1}$ ,  $U = U_{m+1}$  and  $M = M_m$ . Then  $\text{rank}(Y^T, U^T) = n$  and  $Y^T U = U^T Y$ , so that  $K := Y^T Y + U^T U$  is invertible with

$$\begin{pmatrix} K^{-1} Y^T & K^{-1} U^T \\ -U^T & Y^T \end{pmatrix} \begin{pmatrix} Y & -U K^{-1} \\ U & Y K^{-1} \end{pmatrix} = \begin{pmatrix} I & 0 \\ 0 & I \end{pmatrix}$$

(cf. the proof of [7, Corollary 3.3.9]). Then the matrix  $S'$ , defined by

$$S' = K^{-1} U^T M,$$

satisfies

$$Y S' = 0 \quad \text{and} \quad U S' = M \tag{3.1}$$

because

$$\begin{pmatrix} K^{-1} Y^T & K^{-1} U^T \\ -U^T & Y^T \end{pmatrix} \begin{pmatrix} 0 \\ M \end{pmatrix} = \begin{pmatrix} K^{-1} U^T M \\ 0 \end{pmatrix},$$

since  $Y^T M = 0$  by (1.9).

Next we prove that

$$M^T x \neq 0. \tag{3.2}$$

To this end, assume that  $M^T x = 0$ . It follows that

$$\begin{aligned} 0 &= \mathcal{B}_m^T (I - Y Y^\dagger) x \\ &= \mathcal{B}_m^T (I - Y Y^\dagger) (\mathcal{A}_k X \alpha + \mathcal{B}_m u_m) \\ &= \mathcal{B}_m^T (I - Y Y^\dagger)^2 (Y \alpha + \mathcal{B}_m (u_m - U_m \alpha)) \\ &= M^T M (u_m - U_m \alpha). \end{aligned}$$

Hence,

$$\begin{aligned} 0 &= M (u_m - U_m \alpha) \\ &= (I - Y Y^\dagger) (\mathcal{B}_m u_m - \mathcal{B}_m U_m \alpha) \\ &= (I - Y Y^\dagger) (x - Y \alpha) = (I - Y Y^\dagger) x \end{aligned}$$

so that  $x = Y Y^\dagger x$ , which contradicts our assumption  $x \notin \text{image } Y$ . Thus (3.2) holds.

Now we define a sequence

$$\tilde{z} = \begin{pmatrix} \tilde{x} \\ \tilde{u} \end{pmatrix} = \begin{pmatrix} \tilde{x}_k \\ \tilde{u}_k \end{pmatrix}_{k=0}^{N+1}$$

as follows:

$$\tilde{x}_k := \begin{cases} X_k(\alpha + \tilde{\alpha}) & \text{for } 0 \leq k \leq m, \\ x_k & \text{for } m+1 \leq k \leq N+1, \end{cases}$$

$$\tilde{u}_k := \begin{cases} U_k(\alpha + \tilde{\alpha}) & \text{for } 0 \leq k \leq m-1, \\ u_k + U_k \tilde{\alpha} & \text{for } k = m, \\ u_k & \text{for } m+1 \leq k \leq N+1, \end{cases}$$

where

$$\tilde{\alpha} := tS'M^T x \text{ with a free parameter } t \in \mathbb{R}. \quad (3.3)$$

First, we show that  $\tilde{z}$  is admissible:  $\tilde{x}_0 = 0 = \tilde{x}_{N+1} = x_{N+1}$ ,  $\tilde{x}_{k+1} = \mathcal{A}_k \tilde{x}_k + \mathcal{B}_k \tilde{u}_k$  for  $0 \leq k \leq N$  with  $k \neq m$ , and

$$\mathcal{A}_m \tilde{x}_m + \mathcal{B}_m \tilde{u}_m = \mathcal{A}_m x_m + \mathcal{B}_m u_m + (\mathcal{A}_m X_m + \mathcal{B}_m U_m) \tilde{\alpha} = x_{m+1} + Y \tilde{\alpha} = x_{m+1}$$

because  $Y \tilde{\alpha} = 0$  by (3.1) and (3.3). Hence  $\tilde{z}$  is admissible. Next, using the same formula as in § 3.1, we get

$$\mathcal{F}(\tilde{z}) = \sum_{k=0}^N \tilde{x}_{k+1}^T \{ \mathcal{C}_k \tilde{x}_k + \mathcal{D}_k \tilde{u}_k - \tilde{u}_{k+1} \},$$

where  $\mathcal{C}_k \tilde{x}_k + \mathcal{D}_k \tilde{u}_k - \tilde{u}_{k+1} = 0$  for  $0 \leq k \leq m-2$  by (1.6),

$$\mathcal{C}_{m-1} \tilde{x}_{m-1} + \mathcal{D}_{m-1} \tilde{u}_{m-1} - \tilde{u}_m = U_m \alpha - u_m,$$

and

$$\mathcal{C}_m \tilde{x}_m + \mathcal{D}_m \tilde{u}_m - \tilde{u}_{m+1} = \mathcal{C}_m X_m \alpha + \mathcal{D}_m u_m + U \tilde{\alpha} - u_{m+1}.$$

Therefore,  $\mathcal{F}(\tilde{z}) = \mathcal{F}_* + \mathcal{F}_{**}$ , where the first summand

$$\mathcal{F}_* := \sum_{k=m+1}^N x_{k+1}^T \{ \mathcal{C}_k x_k + \mathcal{D}_k u_k - u_{k+1} \} + \alpha^T X^T (U_m \alpha - u_m) + x^T (\mathcal{C}_m X \alpha + \mathcal{D}_m u_m - u_{m+1})$$

does not depend on  $\tilde{\alpha}$ , i.e. not on the parameter  $t$ , and where

$$\mathcal{F}_{**} = \mathcal{F}_{**}(t) := \tilde{\alpha}^T X^T (U_m \alpha - u_m) + x^T U \tilde{\alpha}.$$

Since  $Y \tilde{\alpha} = 0$  by (3.1) and (3.3), we obtain from (1.8)

$$\begin{aligned} (U_m \alpha - u_m)^T X \tilde{\alpha} &= (U_m \alpha - u_m)^T (\mathcal{D}_m^T Y - \mathcal{B}_m^T U) \tilde{\alpha} \\ &= (\mathcal{B}_m u_m - \mathcal{B}_m U_m \alpha)^T U \tilde{\alpha} \\ &= x^T U \tilde{\alpha} - \alpha^T Y^T U \tilde{\alpha} = x^T U \tilde{\alpha}. \end{aligned}$$

Hence  $\mathcal{F}_{**}(t) = 2x^T U \tilde{\alpha} = 2tx^T U S' M^T x = 2t \|M^T x\|^2$  by (3.1) and (3.3). Since  $M^T x \neq 0$  by (3.2), we obtain that  $\mathcal{F}(\tilde{z}) = \mathcal{F}_* + 2t \|M^T x\|^2 \rightarrow -\infty$  as  $t \rightarrow -\infty$ . Hence  $\mathcal{F} \not\geq 0$ , and this completes the proof of Theorem 1.1.



### 3.3. Some consequences

For every admissible sequence

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1}$$

we have that  $x_0 = 0 \in \text{image } X_0$ ,  $x_{N+1} = 0 \in \text{image } X_{N+1}$ , and  $x_1 = \mathcal{B}_0 u_0 \in \text{image } X_1$  because  $X_1 = \mathcal{B}_0$  (see the proof of Proposition 2.2). Moreover, by (3.2), we have for  $1 \leq k \leq N - 1$  that

$$M_k^T x_{k+1} \neq 0 \quad \text{if } x_k \in \text{image } X_k \text{ and } x_{k+1} \notin \text{image } X_{k+1}.$$

Therefore, condition (iii) of the following Corollary 3.1 implies condition (ii) of Theorem 1.1. The inverse implication is also true because

$$M_k^T X_{k+1} = \mathcal{B}_k^T (I - X_{k+1} X_{k+1}^\dagger) X_{k+1} = 0$$

so that  $M_k^T x_{k+1} = 0$  if  $x_{k+1} \in \text{image } X_{k+1}$ . Hence, the subsequent Corollary 3.1 holds.

**Corollary 3.1.** *Assume (1.2), (1.6) and (1.7), and use the notation of Theorem 1.1. Then statement (ii) of Theorem 1.1 is true if and only if*

(iii)  $M_k^T x_{k+1} = 0$  for all  $1 \leq k \leq N - 1$  and for every admissible sequence

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1}.$$

Next, if  $\mathcal{B}_N$  is invertible, then every

$$z = \begin{pmatrix} x_k \\ u_k \end{pmatrix}_{k=0}^{N+1}$$

with  $x_0 = 0$ ,  $x_{k+1} = \mathcal{A}_k x_k + \mathcal{B}_k u_k$  for  $0 \leq k \leq N$ , and with  $u_N := -\mathcal{B}_N^{-1} \mathcal{A}_N x_N$  is admissible. Hence, for  $0 \leq k \leq N - 1$ , put  $u_j = 0$  for  $0 \leq j \leq k - 1$  so that

$$x_0 = \dots = x_k = 0, \quad x_{k+1} = \mathcal{B}_k u_k.$$

Then condition (iii) of Corollary 3.1 implies that

$$0 = M_k^T x_{k+1} = \mathcal{B}_k^T (I - X_{k+1} X_{k+1}^\dagger)^2 \mathcal{B}_k u_k = M_k^T M_k u_k$$

for every  $u_k \in \mathbb{R}^n$ . Hence,  $M_k = 0$ , which means that  $\text{Ker } X_{k+1} \subset \text{Ker } X_k$  for  $0 \leq k \leq N - 1$  by [8, Lemma 1]. Therefore, condition (iii) of Corollary 3.1 implies condition (iv) of the following Corollary 3.2, if  $\mathcal{B}_N$  is invertible. The inverse implication is trivial. Therefore we have shown the following result.

**Corollary 3.2.** *Under the assumptions and notation of Theorem 1.1 or Corollary 3.1, suppose moreover that  $\mathcal{B}_N$  is invertible. Then statement (ii) of Theorem 1.1 holds if and only if*

(iv)  $\text{Ker } X_{k+1} \subset \text{Ker } X_k$  for all  $0 \leq k \leq N - 1$ .

Note that condition (iii) does not imply  $\text{Ker } X_{N+1} \subset \text{Ker } X_N$  in general (cf. [6, Proposition 1 or Theorem 2]).

**Remark 3.3.** Now, using the notion of focal points, Theorem 1.1 and Corollary 3.2 yield the following result. Under the assumptions of Theorem 1.1 suppose that  $\mathcal{B}_N$  is invertible. Then the function  $\mathcal{F}$  is non-negative if and only if the principal solution of the symplectic system possesses no focal point in the open interval  $(0, N + 1)$ .

**Acknowledgements.** We thank the referee for pointing out the reference [6], which appeared when the paper was in the review process.

## References

1. A. BEN-ISRAEL AND T. N. E. GREVILLE, *Generalized inverses: theory and applications* (Wiley, 1974).
2. M. BOHNER, Linear Hamiltonian difference systems: disconjugacy and Jacobi-type conditions, *J. Math. Analysis Applic.* **199** (1996), 804–826.
3. M. BOHNER AND O. DOŠLÝ, Disconjugacy and transformations for symplectic systems, *Rocky Mt. J. Math.* **27** (1997), 707–743.
4. M. BOHNER, O. DOŠLÝ AND W. KRATZ, Discrete Reid roundabout theorems, *Dyn. Syst. Applic.* **8** (1999), 345–352 (part of a Special Issue on ‘Discrete and continuous Hamiltonian systems’ (ed. R. P. Agarwal and M. Bohner)).
5. O. DOŠLÝ, R. HILSCHER AND V. ZEIDAN, Nonnegativity of discrete quadratic functionals corresponding to symplectic difference systems, *Lin. Alg. Applicat.*, in press.
6. R. HILSCHER AND V. ZEIDAN, Coupled intervals in the discrete calculus of variations: necessity and sufficiency, *J. Math. Analysis Applic.* **276** (2002), 396–421.
7. W. KRATZ, *Quadratic functionals in variational analysis and control theory*, Mathematical Topics, vol. 6 (Akademie, Berlin, 1995).
8. W. KRATZ, Discrete oscillation, *J. Diff. Eqns Applicat.* **9** (2003), 135–147.
9. W. T. REID, *Ordinary differential equations* (Wiley, 1971).